THRIOEERERBRER

LIESES HET ARTRRTEHE (T630-0288) FRERALMMRHASEISS
a—FES 292095 B 0743—74—1111 BT AR m-3 Rt HiiE I-8
EE 53.15km e eI RERFREDRR LEE- AL
A B\ EEEE (ER27EER)
ESHEAD(A) K (%) ADEEAAD | g ) | AREERE BEAD N W)
TH1245 112,830|H7~H12 57 2,123 38,303 86,150 11X 411 038
THITE 113,686|H12~H17 08 2,139 40,077 86,324| 2w 10,577 205
TH224 118,113|H17~H22 39 2,222 44,484 94823 3R 39,511 76.7
TH27E 118,233|H22~H27 0.1 2,225 45593 96,070 Z Mt 1,004 20
EEAOH31.3.31) 119,795| A4 LL 0.0
MALTWS—EEHHEE FREMIAHKREEHEE FRERYEHEERLEES
LTERHBEOKR LERHICET AR (FMA)
5 B iy | “APEID | | T & BA | B | RX | —BRHHSOBRAS
(N)| Ff | ZHAEER) (AN) a
—RRATER 653| 41.7 3,256| AT 388| N AR B HESE 997 997 0
BREH B 26| 472 3,069 3T - Hi3RAR 150
BRELBE 53| 422 3,225| 5% 194
& & 732 419 3,247 At 732
REBR UM BERIER (FMA. %) NEEEZEOKR(FMA)
RAREE 37,073,611 | HEMBFELE 16,849,194 ¥4 K& bl
R g 35,013,975 |4 BT BUUR A B8 14,021,169 EEIREE 2,728,884 289,151
RARLESI%E 2,059,636 — HEE 0.83 BEER 2,490,735 494,794
BEERBER 928,681 s 3T EFY 0.830 é ’(‘%ﬁfﬁgﬁﬁ %) 238,149 A 205643
EERX 1,130,955 |#2H AN K te 3 935| |® g%ﬂgg 67,957 -
HEERX 226124 EBIMKILE 101.0 iﬁ"ﬂﬁﬁéﬁ%) 306,106 A 205643
MEREASRIE 1194| MEE BB E 1.0 :g: BEFERRE 547,474 A 1,006,815
REBES 0 RERFLE ( A499) § BRI (%) 1096 584
PG L =23 of & SRR ( 22040) e Y Tl NEY—ER
EHEEFENRX 227,318 ﬁ FEaAtR (A775) #uw £x 1,537,682 18,364
WHERES 17,721,458 % fé BER 4.1086 ;é wERA 1,023,729 18,364
tiﬁf;%ﬁggg 18,461,123 itb 3y EFLY 2.5 E HARHIURA 1,455,592 55,409
FANALAIEH(H30.4.1) 1014 =EN: DB 1,969,556 55,409
ot W 22,660,238 LHBARE 1,191,305 23515
E2ORR(FMA) -+ 2 R EREERR wHEhE
BAASORES EREEORER BA 8,039,073 10,990,193 1,851,640
MEEGREREE 2,407,018 :g: 4] 7,783,513 10,990,193 1,844,401
HEEE 4,250,440 i RARLESI%E 255,560 0 7,239
HEBMES 4,765,022 EBRHDLORAE 1,212,840 628,220 247,828
& & 11,422,480 & &t 0 BEHK 26 13 3




[ A B #9751 % B
REEE BE—RMRE REEE —HRBAR%E
X5 X5
(FH)| #Rt (FA)| #ek (FMA)| Rt (FA)| #Eett
ek 17,121,807 46.2 15,821,335 143|EFS 332,466 1.0 332,466 1.3
A ESH 252,069 0.7 252,069 12|eH% & 3,942,997 1.3 3,491,796 14.0
FFEIZFE 54,936 0.1 54,936 02|R4&#E 14,233,009 40.7 7,184,035 287
(PR B 172,510 0.5 172,510 08|BEE 3,800,332 10.9 3,345,893 134
BREWEHGRRTE 138,585 0.4 138,585 07|55 EE 11,780 0.0 11,780 0.0
mAHHERX S 1,776,816 48 1,776,816 83| BMKEEE 155,517 0.4 126,083 0.5
T TBFIARR R 5,928 0.0 5,928 oo|EIE 249,041 0.7 241,908 1.0
BEIEIREHRRXTE 86,074 0.2 86,074 04|t K& 3,505,482 10.0 2,782,196 11.1
AR F & 98,309 0.3 98,309 0.5|:HFE 1,401,292 40 1,312,373 5.2
7R AR 3,452,090 9.3 2,815,248 132|%F& 4,358,257 12.4 3,207,202 12.8
" B 2,815,248 7.6 2,815,248 132|KEEIEE 35,994 0.1 21,771 0.1
R 4551 636,842 1.7 NMEE 2,987,808 8.5 2,987,808 11.9
FEREAERIZ AR 11,362 0.0 11,362 0.1
SEEEEE 277,324 0.7
ERAH 595,744 16 40,980 0.2 & &t 35,013,975 100.0 25,045,311 100.0
FHoH 346,684 0.9 8 B %
& REE
EEXHE 4,807,469 13.0 - RERE EEERRN EETE
BxHe 2,381,522 6.4 F)| g | TEERER | kE X
BIEEIRA 94,573 0.3 26,265 01| AEE 6,965,431 19.9 6,591,306 309
Fhit e 105,276 0.3 SHE AR 4,770,553 13.6 4,543,570 213
B’AZ 1,370,072 37 M & 7,334,836 21.0 4,834,895 22.7
rus 1,053,323 28 HEFHEE 63,661 0.2 56,958 0.3
BN 731,738 20 6,080 0.0[¥BNE 8,118,945 232 2,569,749 12.1
g 2,139,400 5.8 HENEE 2,046,621 5.9 1,234,934 5.8
- MRS 1,712,700 46 NMER 2,987,808 85 2,987,808 140
& Py | TR E S 2,987,808 8.5 2,987,808 14.0
& & 37073611 1000 21,306,497 1000|® | —estE A2 0 00
MR DRNER HiIs 745,331 2.1
REE HURE (%) BREHEEGE 2,933 0.0
X5
(FA)| #mt RE ) At |BeS 4,428,564 12.6 3,251,847 15.3
R 9,165,880 535 99.5 20.7 97.2|diEER LEFAS
EE&ER 6,105,759 35.7 99.4 14.7 938 (/v F) 32,694,130 93.4 21,527,497 101.0
ZD1hEER 549,696 32 99.7 26.7 99.2|# B MRE 2,319,845 6.6
T Et ER 1,300,472 76 99.4 14.7 937 |5BEAHE 151,006 0.4
At 17,121,807 100.0 99.5 16.7 957| |ZEEHE 2,283,851 6.5
TihBAR AR ORR (FA) HMNHELTLDEA | |#EBh 564,183 1.6
&
B RETSE 123532 X% EAE ;'2 Sg B 1,703,130 49
E3-1] 123,532 EEH AN § BEEEE 16,538 0.0
EAERAH M
=8 O|HEtLE | (— B £BATHILEVA—  |R|KEEIR 35,994 0.1
17200 E
&% 533,024|DHD  [WIFEHR/NAT—H KRESE 0 0.0
RELH -
miE 10,793m xmiﬁm_:
iz | SRS ESER EERG
A=K 1/10LA LD =
HHE IAN|B? A F 35,013,975 100.0 21,527,497 101.0




